CubtracCt |ots Of 10 from humbers up to 2000.

Working Mathematically

Name:

1494 - 50 = 614-30 =
591-70 = 1152 - 40 =

1037 -10 = 501-60 =
791-60 = 04-70 =

1792 - 80 = 437-10 =

259 -80 = 118 -80 =

660 - 10 = 50-40 =

1) 50 out of 125 children like sausages. How /’

many do not like sausages ?

O
2) 914 butterflies were hatched at the zoo. 70 3\ ,"

_ Dz
butterflies escaped. How many lef1?

Qe
O

3) 60 of 607 tennis racquets were sold. How many

were not sold?

4) T used 90 out of 1288 blocks to build a tower.
How many blocks were left over?
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